A\
v

GLOBAL
INDUSTRIAL

Assembly Instructions Instrucctiones de Ensamblaje Directives d’assemblage

Customer Service
US: 1-800-645-2986

Servicio de arencion al Cliente
US: 1-800-645-2986

Service a la clientéle
Canada: 888-645-2986

Geiling Mount Light Fixture/LED Shop Light

Models 501694 501695 501696

ON N
Ref. | Qty. Description Ref. | Qty. Description
1 1 | Light Fixture H7 2 | M4 x .7 x 6mm Thumb Screw

H1 2 | ANChOr eeeeeeeneeniennenes H8 4 M3 x .5 x 6mm Lg. Phillips
H2 | 2 | Fixed Base - (0o ) Pan Head Screw .......coeueuce. -
b3 | o [#4x1.25Lg. Phillps.m HO | 2 | L-Bracket s H’

Pan Head Screw <>
H4 | 2 | Cable Gripper H10| 2 | M4 x.7 Hex Bolt wrreeeuees =
H5 2 | Steel Cable M4 x .7 x 6mm Lg.Phillips

H11 2

H6 2 | Mounting Bracket «-.esseeeseucene Pan Head Screw --.eeeeeeeeeneeennnnn

SAVE FOR FUTURE REFERENCE

Note: When using electrical appliances, please follow these basic
precautions to reduce the risk of fire, electric shock, and personal
injury or property damage.

A\ WARNING

e Operate the unit from a power source of equal voltage, frequency,
and rating as indicated on the product identification plate.

* Do not install this product on damp, moist, or newly plastered surfaces.

e Fixture LEDs are not replaceable.

e DO NOT INSTALL DAMAGED PRODUCTS!

e [nstallation, service, and maintenance should be performed by a
qualified licensed electrician.

e This unit must be plugged into grounded outlet.

Do not operate unit if cord/plug has been dropped or damaged in
any manner.

e To reduce the risk of electric shock, do not expose unit or power
cord to moisture.

e The use of attachments or accessories is not recommended or
intended for use with product.

e This unit is not intended for hazardous locations.

e Do not attempt to dismantle the unit.

e Turn off power and unplug prior to performing any maintenance.

Model # 501694 501695 501696
Length 48" 60" 72"
Rating 100-277/35Watt/60HZ | 100-277/35Watt/60HZ | 100-277/35Watt/60HZ
Lumen 3850 4375 4375
Color Temp 4000K 4000K 4000K
Beam Angle 110 110 110
Cord 8ft. grounded cordset 8ft. grounded cordset 8ft. grounded cordset
On/0ff switch Pull String Pull String Pull String
X hole spacing 43" (1092mm) 57" (1447mm) 69" (1752mm)

N

!

N
N
NI
NN

AN N N T e T e e N N N

RN N T N T N N N N S N e N N
AN N N N e N N N N N e N N N NN
il AAN T AN AT N1 UNT NN N NN N NN NN NN NN Y AN

NN NN
SNONN D

NN
N
N

NN NN
NN NN

AN

NNN NN

Drill (2) 6mm holes in
ceiling as shown. See hole
spacing for X dimension.

N

RN T N N N N N T N N N
A N N N T S N N N N T S N N N N N NN
{1 A N N N T R N N N N N e N RN

N

NN NN N
N \\\\\
\%\\ AN
NNN NN
N

AN N N N T N N N N N S N S U S SN

Insert plastic anchors flush to ceiling.




R AR R RN AN A I R T R N T R T R T S T A TR S RN
SN D N N N N N S N N N N N N R NS R NN (O

3 NN AN N N N N T N N R NN NNONNT
NN\ AN N N N N S R N N N N N N N N O S U RS LSS NN

|
Attach cable grigger to
H3 \1 plastic anchors as shown.
H2

4

NP AN AN AN AN N AN AN AN AN AR N NN NN
N
N

AAN T N NN N NTT NN N NN T O NUNT T NNN NN NN NN NN Y NN N\ N
N N A N T N N N N N N N N N N N N NN NN NN N
NNN NN NN N NN S N N N N S N S NS SN SR LA S NN

Assembly

Geiling Mount Light Fixture/LED Shop Light Instructions

//? Thread loose end of cable
) through opening as shown.

H5

B N S N N N NN N N NN NNONN )
AN A N N N N R N N A N A AN \\\\
5 WY N N N N N N N N S N N N N NNONNT
NN NN N N N N N T N N N NN N S L SN NN

Attach bracket to cable end /\ﬁ
using hardware provided.

~

SR N S N N N N N N N N S S NN NN ONN
AN AN NNT T NNT NN NNT T NNN T NNN NN NN NN NN NN NN

6 NN AAN NN T T NNT NN NNT T NNN D NNN NN NN NN NN NN NN \\\\
N NN AN N N N N N T N e N N N NN NN NN

Insert brackets into groove

opening and secure with /\ﬁ
screws provided. (—/

AC Power \
Cable

Switch
Cable

PN N N T N T N N N T N N N NNONN 0
SN A N O N N N R N N S N A SRR NN \\
7 NN RN N N N N e N N N N NN RN NNONNT O
N NN N N S N N N N N N N NNN NN

Push the tip of the gripper

/\ﬁ up gently and pull down on /‘\ﬁ
cable end. KZJ
, i
\ )




a. GLOBAL @
V2 INDUSTRIAL

Assembly Instructions Instrucctiones de Ensamblaje Directives d’assemblage

Customer Service Servicio de arencion al Cliente Service a la clientéle
US: 1-800-645-2986 US: 1-800-645-2986 Canada: 888-645-2986

Lampara de Techo con Accesorios de Montaje/Lampara LED para Tiendas
Modelos 501694 501695 501696

0 NIDO
Ref. | Cant. Description Ref. |Cant. Description
1 1 Accesorio de lluminacion H7 2 | Tornillo de Pulgar M4 x.7 x 6mm
H1 2 | Taco de Anclaje -++-+-s-sem | Hg | 4 |Tornillo de Cabeza Plana Tipo
H2 2 | Base Fija-weeeeens Phillips Longitud M3 x .5 x 6mm
Tornillo de Cabeza Plana «-«-«-s---- ]
H3 12 |Tipo Phillips Longitud #4 x 1.25 ? e I e J
H4 2 | Mordaza Para Cable H10 | 2 | Tornillo Hexagonal M4 XT e =
H5 2 | Cable de Acero H11 2 Tornillo de Cabeza Plana Tipo Phillips
H6 | 2 | Soporte de Montaje . i Longitud M4 X .7 X BMM wevvveeerersssccrnneen %
CONSERVAR PARA FUTURA REFERENCIA e La instalacion, el servicio y el mantenimiento deben ser realizados
Nota: Cuando utilice electrodomésticos, por favor, siga estas por un electricista licenciado calificado. _
precauciones basicas para reducir el riesgo de incendio, descarga * Esta unidad debe ser enchufada en una toma de corriente con
eléctrica y lesiones personales o dafios a la propiedad. conexion a tierra. .
¢ No encienda la unidad si el cable/enchufe se ha caido o se ha
ADVERTENGIA

dafiado de alguna manera.

e Para reducir el riesgo de descarga eléctrica, no exponga la unidad
ni el cable de alimentacion a la humedad.

e El uso de adaptadores o accesorios no es recomendable ni esta
previsto para su uso con el producto.

e Esta unidad no esta disefiada para zonas de riesgo.

e No intente desmantelar la unidad.

e Desconecte la alimentacion y desenchufe el cable antes de realizar
cualquier tipo de mantenimiento.

gkncienda la unidad desde una fuente de alimentacion de igual
voltaje, frecuencia y capacidad como se indica en la placa de
identificacion del producto.

* No instale este producto sobre superficies humedas, mojadas o
recién enlucidas.

* Los accesorios LED no son reemplazables.

* iNO INSTALE PRODUCTOS DANADOS!

Model # 501694 501695 501696
Longitud 48" 60" 72"
Potencia 100-277/35Watt/60HZ 100-277/35Watt/60HZ 100-277/35Watt/60HZ
Lumen 3850 4375 4375
Temp. del Color 4000K 4000K 4000K
Angulo del Haz 110 110 110
Cable Juggo de_ cables con Jut_ago de_ cables con Jut_ego de_ cables con
conexion a tierra de 8 pies. conexion a tierra de 8 pies. conexion a tierra de 8 pies.
Interruptor de Encendido /Apagado Cadena de Encendido Cadena de Encendido Cadena de Encendido
Distancia entre agujeros X 43" (1092mm) 57" (1447mm) 69" (1752mm)

NN NN ANE AN AN NS NN AN AN AT NN SRR A
N

AN
N

N
A N N N N N N N N S e N N N N N N NN N NOONN \\
A AN N N N N N N N N N N O N N RN Y NN NN N
NN AN N N N N N N S N N N N N N N N N N S NN Y NNN NN

Taladre (2) agujeros de 6 mm
en el techo como se muestra.
Véase la distancia entre
aguijeros para la medida X.

\\\
NI
AN

N

AR AN A AN R N R A R R A R A A R A T A A T A A T AT A T A RN
D NN N N N S N N N N RN N\ \\\\
ﬂ A N N S N N N N N N S N N RN A NN NN

AN AN N N N N N N N N N N N N N N N NN NNN NN
N

L @ Inserte los anclajes de plastico a ras del techo.



Instrucciones

Lampara de Techo con Accesorios de do Ensamblo

Montaje/ Lampara LED para Tiendas

R AR R RN AN A I R T R N T R T R T S T A TR S RN

SN D N N N N N S N N N N N N R NS R NN (O
3 NN AN N N N N T N N R NN NNONN

NN\ AN N N N N S R N N N N N N N N O S U RS LSS NN

|
Fije la mordaza del cable a los anclajes
H3 \1 de plastico como se muestra.
H2

R N T T T Y N T N N N N N N Y NNONN D

NN AAN T N NN N NTT NN N NN T O NUNT T NNN NN NN NN NN Y NN N NN N
4 NN A N T N N N N N N N N N N N N NN NN NN \\\

NNN NN NN N NN S N N N N S N S NS SN SR LA S NN

//? Ensarte el extremo suelto del cable a
* través de la abertura como se muestra.

H5
H4

B N S N N N NN N N NN NNONN )

AN A N N N N R N N A N A AN \\\\
5 WY N N N N N N N N S N N N N NNONNT

NN NN N N N N N T N N N NN N S L SN NN

’\—ﬁ Fije el soporte al extremo /\ﬁ
del cable utilizando las
herramientas suministradas.
ﬁé/HG
H7

TN N N N T N N T N N N N N N NN NNONN T
NN AN N N N N S N N N N N N N N N N N N NN \\
6 N NN N N N N N N N N N N N N N N AN S NN NN NN N
N NN NN N N N N N N N N N N N N N N N N N N N R NNN NN
Inserte los soportes en la abertura
de la ranura y asegurelos con los
tornillos suministrados.
Cable de =
Alimentacién
de CA
Cable del
Interruptor
NN NN N NN NN NN NN\ NN NN NN N NN N NN NN AN \\\ A
NN AN N N N e N N N N e N N N N N N N N N AN N NN \\
7 N NN A N N N N N N e N N N N N N N N N N NN N N NN NN N
IN NN N N N N N N N N S S N N N N N N N N N N N NN NN NNN NN

/\ﬁ Empuje suavemente la punta de
la pinza hacia arriba y hale el

,,,,,, _. extremo del cable hacia abajo. /
)

Empgje

aqui
Extremo
| delcable ~ ™& |




a. GLOBAL @
V2 INDUSTRIAL

Assembly Instructions Instrucctiones de Ensamblaje Directives d’assemblage

Customer Service Servicio de arencion al Cliente Service a la clientéle
US: 1-800-645-2986 US: 1-800-645-2986 Canada: 888-645-2986

Luminaire de plafond/éclairage DEL d’atelier

Modéles 501694 501695 501696

O N
Réf. | Qté. Description Réf. | Qté. Description
1 1 Luminaire H7 2 | Vis a serrage a main M4 x 0,7 x 6 mm ...
H1 2 | ANCrage «eeeeeeeenencncncs i He | 4 | Visatéte cruciforme cylindrique
H2 | 2 | Base fixe (0o ) ? bombée M3 x 0,5 x 6 mm long----- ~§
n° 4 x 1,25 long. Vis & téte -c-eeeeeee ]
H3 2 cruciforme cylindrigue bombée H9 2 | SuPPOrt @ L wwrsessseerssssee J
H4 | 2 | Dispositif du maintien du cable ------ H10| 2 |Boulon hexagonal M4 x 0,7...7.......
H5 | 2 | Céable d’acier Hi1| o |Vs a téte cruciforme cylindrique
H6 2 | Support de montage bombée M4 x 0,7 x 6 mm long............... %
CONSERVEZ POUR REFERENCE ULTERIEURE * Linstallation, I'entretien et la maintenance devraient étre effectués
Remarque : Lors de I'utilisation d’appareils électriques, veuillez par un électricien certifié.
respecter ces précautions de base afin de réduire le risque d’incendie, o Cette unité doit étre branchée dans une prise électrique
de décharge électrique, de blessure ou de dommages matériels. comportant une mise a la terre.
o N'utilisez pas le cordon/fiche de I'appareil s'il est tombé ou il
A\ AVERTISSEMENT p b

est endommagé de quelconque fagon.

 Pour réduire le risque de décharge électrique, n’exposez pas
cette unité a I'’humidité.

o |'utilisation d’attaches ou accessoires non recommandés ou
congus pour ce produit.

e Cette unité n’est pas congue pour les endroits dangereux.

* Ne tentez pas de démonter I'unité.

e Fteignez I'alimentation avant d’effectuer une maintenance.

e Utilisez I'unité a partir d’'une source d’alimentation de tension,
fréquence et classification identique a ce qui est indiqué sur la
plaque signalétique.

o N'installez pas ce produit sur les surfaces humides, mouillées ou
nouvellement platrées.

e Les DEL du luminaire ne sont pas remplacables,

e NE PAS INSTALLER UN PRODUIT ENDOMMAGE!

N° de modéle 501694 501695 501696
Longueur 1219 mm (48 po) 1524 mm (60 po) 1828 mm (72 po)
Classification 100-277/35 Watt/60 HZ 100-277/35Watt/60HZ 100-277/35Watt/60HZ
Lumen 3850 4375 4375
Temp. de couleur 4000 K 4000K 4000K
Angle du faisceau 110 110 110
Cordon Cordon de 2,4 m (8 pi) avec mise a la terre | Cordon de 2,4 m (8 pi) avec mise a la terre | Cordon de 2,4 m (8 pi) avec mise a la terre
Interrupteur de marche/arrét Corde a tirer Corde a tirer Corde a tirer
Espace de trou X 1092 mm (43 po) 1447mm (57po) 1752mm (69 po)

AAN T AN AT N1 UNT NN N NN N NN NN NN NN Y AN NN \\\

AN N O N N N N N S N N R NNN NN

N AN AN AN AT AN R AT A A T R A R D R T D T T 0 T A TR D T RN
NN A N N N N N N N N T N N N N N N N N N NN N NN NN N
AN
N

NANAN ﬂ

Percez dans le plafond (2)
trous de 6 mm, comme
montrés. Voir I’espace entre
les trous pour la dimension X.

AN AN AN AN AN A A A AN R A R DA T A TS A T D RN
SN A N N N T S N N N N T S N N N N N NN N N\ \\
N \ﬂ AN N e N T N N T N N N Y NN NN N

NN

AN AN N N N R N N N N N N N N e N N NN NNN NN
N

. Insérez les ancrages de plastique a égalité avec le plafo.

H1



Directives

Luminaire de plafond/eclairage DEL d'atelier dPassemblage

R AR R RN AN A I R T R N T R T R T S T A TR S RN
SN D N N N N N S N N N N N N R NS R NN (O

3 NN AN N N N N T N N R NN NNONNT
NN\ AN N N N N S R N N N N N N N N O S U RS LSS NN

1
Attachez le dispositif du maintien du cable aux
H3 \1 ancrages de plastique, comme montré.
H

AN
5 NG
NN\

R T T S S N N N N N N N NN NN ‘\j

2

N

AAN T N NN N NTT NN N NN T O NUNT T NNN NN NN NN NN Y NN N\ \\\\
N N A N T N N N N N N N N N N N N NN NN NN \\\
NNN NN NN N NN S N N N N S N S NS SN SR LA S NN

//? Vissez, mais pas complétement,
) I'extrémité du céble par les
ouvertures, comme montré.

H5

4

NP AN AN AN AN N AN AN AN AN AR N NN NN N
N
N

H4

N

A N N N N R N N A N A AN \\\\\
N N N N N N N N N S N N N N NN
NN N N N N N T N N N NN N S L SN NN

~

Cable
d’alimentation
CA

Interrupteur
du cable

ici
Extrémité de

Attachez le support au céable et /\ﬁ
utilisez le matériel fourni.

SR N S N N N N N N N N S S NN NN ONN
AN AN NNT T NNT NN NNT T NNN T NNN NN NN NN NN NN NN

6 NN AAN NN T T NNT NN NNT T NNN D NNN NN NN NN NN NN NN \\\\
N NN AN N N N N N T N e N N N NN NN NN

linsérez les supports dans

I’ouverture en rainure et fixez /\ﬁ
avec les vis fournies. (—/

)

PN N N T N T N N N T N N N NNONN 0
SN A N O N N N R N N S N A SRR NN \\
7 NN RN N N N N e N N N N NN RN NNONNT O
N NN N N S N N N N N N N NNN NN

f\ﬁ Poussez doucement vers le haut r\ﬁ
le bout du dispositif du maintien
du céble et tirez I'extrémité du KZJ
]

cable vers le bas.




